|V

nvent Horeman

J-BOLT KIT

87561778

Connects ladder rack to top of
cabinet or to auxiliary support
channel. Kit includes two J-bolts
and makes one support connection.
Kit components are plated steel.
Includes mounting hardware.

Each kit contains:

(2) J-Bolts, 5/16 in.

(2) Nuts, 5/16 in.

(2) Washers, 5/16 in.

(2) Lock Washers, 5/16 in.
(1) Plate

BULLETIN: DCR

CABLE PATHWAY CABLE RUNWAY AND ACCESSORIES

89059437

Catalog Number J (in.) J (mm) Finish
35 89 Plated

1

NETWORKING

Spec-00069 W

SUBJECT TO CHANGE WITHOUT NOTICE

nVent.com/HOFFMAN


http://hoffman.nvent.com/en/hoffman/LJBK

